





# Manus TRYGG NETTHANDEL

## 3. $\neg\alpha()$ $\Delta$

21. }  $\Omega = \hat{E} \ddagger \cdot \bullet \epsilon 8 \frac{3}{4} \Sigma \tilde{O} \acute{e} \dots \varphi - \Delta$

22.  $\neg \acute{e} \Omega \varphi - \int \text{TM} - \cdot \text{TM} 8 \text{p} 8 \text{M} \acute{e} \text{S} \neg \acute{e} \text{He} \{ \prod \acute{e} \Delta \} \hat{E} \text{l} (( \neg \acute{e} \text{Hex}) \acute{e} \text{ae} \int () \text{P} \{ \} \cdot \acute{a} \ddagger \text{H} \ddagger - , \acute{t} \check{G} \} = \acute{e} \check{Y} \text{q} \int \wedge \Delta 8 \text{J} \acute{u} \acute{e} \circ \% \tilde{O} \text{P} \{ \} \acute{e} \acute{e} \} = \text{M} \text{I} 3 * \delta 8 \} \acute{A} \acute{s} \acute{e} \partial \check{S} \check{E} \in \text{TM} \} \hat{E} \text{Q} \} \acute{e} \text{S} \neg \acute{e} \Omega \acute{t} , \acute{t} - \cdot \dots \varphi \hat{a} - \acute{e} \int \wedge \Delta 3 \text{TM} 8 \text{d}' \div \text{n} \acute{e} \div \cdot * \text{TM} \text{"Til kasse" ``} \text{Q} \} \acute{e} \text{S} \text{ø} \acute{t} \ddot{,} \text{"Gå til betaling" ``} \text{Q} \} \acute{e} \dots \varphi () \sim \acute{a} \text{ø} \acute{t} \ddot{,} \text{"Gå til utsjekking" ``} \text{Q} \} 8 \in \acute{u} \Sigma \text{ø} \acute{t} \ddot{,} \div \hat{a} 8 \text{SS}^* - \sqrt{\acute{a}} \text{U} \cdot \acute{a} , \acute{t} \check{G} 8 \div \acute{t} \Sigma \hat{E} - \cdot \acute{t} (\Delta$

23.  $\neg \acute{e} \Omega \varphi - \int \text{TM} - \cdot \text{TM} 8 \text{p} 8 \text{M} \acute{e} \text{S} \neg \acute{e} \text{He} \{ \prod \acute{e} \Delta \} \hat{E} \text{l} (( \neg \acute{e} \text{Hex}) \acute{e} \text{ae} \int () \text{P} \{ \} \cdot \acute{a} \ddagger \text{H} \ddagger - , \acute{t} \check{G} \} = \acute{e} \check{Y} \text{q} \int \wedge \Delta 8 \text{J} \acute{u} \acute{e} \circ \% \tilde{O} \text{P} \{ \} \acute{e} \acute{e} \} = \text{M} \text{I} 3 * \delta 8 \} \acute{A} \acute{s} \acute{e} \partial \check{S} \check{E} \in \text{TM} \} \hat{E} \text{Q} \} \acute{e} \text{S} \neg \acute{e} \Omega \acute{t} , \acute{t} - \cdot \dots \varphi \hat{a} - \acute{e} \int \wedge \Delta 3 \text{TM} 8 \text{d}' \div \text{n} \acute{e} \div \cdot * \text{TM} \text{"Til kasse" ``} \text{Q} \} \acute{e} \text{S} \text{ø} \acute{t} \ddot{,} \text{"Gå til betaling" ``} \text{Q} \} \acute{e} \dots \varphi () \sim \acute{a} \text{ø} \acute{t} \ddot{,} \text{"Gå til utsjekking" ``} \text{Q} \} 8 \in \acute{u} \Sigma \text{ø} \acute{t} \ddot{,} \div \hat{a} 8 \text{SS}^* - \sqrt{\acute{a}} \text{U} \cdot \acute{a} , \acute{t} \check{G} 8 , \check{Y} \check{E} - \cdot \acute{t} (\Delta$

24.  $\prod \acute{e} \text{S} , \acute{t} \check{G} \text{TM} \acute{e} \varphi \acute{u} = \int \hat{E} \hat{E} \text{U} \} 3 \text{xL} \acute{a} = \$ \} \text{TM} \text{M} \int \wedge -$

25.  $\text{U} = \text{TM} \text{P} \text{K} \text{I} \text{TM} \{ * \text{P} \{ \} 1 (\text{P} \{ \} 3 \text{Q} \} \} \acute{t} \cdot \acute{e} \div \text{P} \{ \} - \text{U} \text{K} \} \acute{e} \acute{e} \in \text{TM} - \acute{e} \text{P} \{ \} \acute{t} \acute{e} \text{ae} \int - \Sigma \tilde{O} \} \Delta$

26.  $\text{U} = \text{TM} \text{P} \text{K} \text{I} \text{TM} \{ \text{TM} \text{S} - \text{TM} 8 \} \acute{A} \acute{s} \acute{e} \partial \check{S} \check{E} \text{"fakturaadresse" ``} \hat{a} \{ \# \} \hat{E} \acute{u} \check{Y} , ; (\acute{e} \text{z} - \hat{E} \text{U} \check{S} \text{P} \text{K} \{ (\text{Q} \} \acute{e} \dots \in \text{TM} \{ \} ) \Delta$

27.  $\text{P} \text{K} \text{I} \Sigma 8 \cdot - \acute{e} \text{TM} \hat{a} (\_ \text{TM} \acute{u} \text{M} \hat{O} \text{TM} \int \text{TM} \hat{a} \tilde{O} \Sigma) \acute{a} \acute{u} \text{J} > \{ \cdot - \int \wedge \hat{a} 8 \text{K} \check{T} \}$

28.  $\text{P} \{ \} \text{P} \{ \} \varphi + \Delta 8 \} \acute{A} \acute{s} \acute{e} \partial \check{S} \check{E} \text{z} - \neg \text{U} , \acute{e} - \{ \text{TM} \acute{e} \text{M} \div \cdot \} - \text{H} \acute{e} \acute{e} \text{M} \div \cdot \} \acute{e} \int \ddagger \cdot \bullet \epsilon 8 \frac{3}{4} \neg \acute{e} \Omega \varphi - \text{P} \text{K} \check{T} \acute{a} \acute{e} \cdot \div \$ \text{x} \acute{e} \int \wedge \Delta$

29.  $\} \{ \text{TM} \div \cdot - \text{H} \acute{e} \acute{e} \text{M} \neg \acute{e} \Omega \varphi - \int \text{TM} , \text{P} \{ \} 8 \text{J} \acute{u} \acute{e} \text{U} = \div \text{Q} \} \acute{e} \text{M} - \acute{a} \acute{u} \text{J} \acute{e} \text{M} \text{TM} \hat{e} \div \acute{t} \cdot \} , (\acute{e} \text{TM} \text{P} \text{e} \acute{t} : \acute{e} \div \frac{3}{4} \text{TM} \acute{e} \text{He} \sim) - \Omega = \partial \in \text{TM} \text{CVC} \$ \} \acute{e} \text{x} \$ - (\int \hat{E} \text{P} \text{P} \} \sim 5 \text{H} \check{Y} \check{r} \div \frac{3}{4} \text{TM} \acute{e} \Sigma \tilde{O} \acute{e} \text{He} \sim \Delta \text{CVC} \int \hat{a} \text{TM} \text{P} \} 1 ; \text{Q} \} \acute{t} \varphi \hat{E} \text{M} \text{Q} \text{P} (\text{U} \hat{a} \text{P} \{ \} \acute{A} \acute{e} \sqrt{\cdot} \cdot \text{TM} = \text{U} \tau \text{M} \tilde{O} \text{P} \} 3 , \text{J} \check{g} \hat{E} \text{M} \text{Q} \int 1 \text{TM} \}$

30.  $, \acute{t} \check{G} \text{e} \acute{t} : = \varphi \acute{t} = \acute{e} \text{Q} \} \acute{a} \acute{e} \hat{E} \text{P} \{ \} \% \tilde{O} \acute{t} \Delta \text{TM} \Sigma \text{TM} \text{M} \acute{e} \text{e} \acute{t} 8 - \acute{a} \bullet \acute{e} , \$ \acute{e} \cdot \text{P} ; ; \ddagger) \int \wedge \neg \acute{e} \} - \prod \acute{e} \Delta$

$8 \} \acute{A} \acute{s} \acute{e} \partial \check{S} \check{E} \int \acute{I} = \text{e} \acute{t} 8 - \acute{a} \bullet \acute{e} \text{P} \} \cdot \check{Y} \acute{e} \text{TM} \% \in \sim \int \text{TM} \hat{E} 8 \text{U} * \text{U} \hat{a} \acute{e} \hat{E} \text{P} \alpha \text{I} \int \circ = - \cdot \hat{A} \text{TM} , \text{P} \} = \text{xM} \text{e} - \check{e} \varphi \Sigma - \acute{e} \Omega \text{TM} \sim = \text{P} \{ \} 4 \text{R} \int \wedge - = \int \text{TM} \text{TM} \text{e} \text{P} ; ; \ddagger) \% \tilde{O} \neg \acute{e} \alpha - \acute{L} \Delta$

$\} \varphi + \int \hat{a} \text{TM} \text{M} \} - \text{TM} \text{U} \text{K} \hat{E} - = + \text{U} \text{P} \{ \} 3 \text{TM} 8 \text{P} - \acute{e} , \text{S} \text{TM} \hat{E} = - \Omega \hat{a} - \sigma + \acute{e} \text{P} \} \text{z} \text{q} \acute{e} \text{P} \} \text{x} \text{TM}$

# Manus TRYGG NETTHANDEL

31.  $\bullet \hat{E} \hat{a} \acute{e} = U3 (\varphi \hat{z}^\circ \bullet \hat{e} = \Pi \hat{h} 3 \hat{I} \textcircled{\text{R}} \text{--} \acute{e} 3 \hat{E}^a = \hat{t}, \acute{e} \int \text{T}^{\text{M}}, \Pi \text{S} \text{--} \hat{\wedge} \hat{z} \text{ T}^{\text{M}} \hat{t} 8 \text{--} \acute{x} \bullet \acute{e}, \hat{t} \check{G}$   
 $\Omega = \acute{e} P; ; \ddagger) \text{--} \acute{e} 5 \text{T}^{\text{M}} \text{d}' \acute{e} \text{c} \text{f} \text{--} \Delta$
- $3, \Pi \text{R} \text{--} \sigma \text{--} 8 \text{UM} \hat{t} \check{G} \bullet \hat{I} = \Pi \hat{h} 1 \text{--} \acute{e} 3 \hat{E}^a = \acute{e} q 1 \hat{t} = \& \text{+} \text{E} \hat{z} \int \hat{\wedge} \Delta \int \hat{a} \acute{e}, \hat{t} \text{3/4} \hat{t} \Delta \text{T}^{\text{M}}$   
 $\Sigma \text{T}^{\text{M}} \text{M} \acute{e} \} \acute{A} \{ \int \hat{E} \text{T}^{\text{M}} 8 \text{P} \text{--} \acute{e} \text{, S}^{\text{T}^{\text{M}}} \text{I} \& 3 \text{xL} \hat{a} \text{--} \acute{e} \& \text{x} \hat{z} \cdot \text{S} \{ \int \Delta$
- $8 \text{UM} \hat{t} \check{G} \hat{z} \} \hat{t} \Delta \text{T}^{\text{M}} \Sigma \text{T}^{\text{M}} \text{M} \acute{e} \textcircled{\text{R}} \hat{t} \Delta \text{T}^{\text{M}} \Sigma \text{T}^{\text{M}} \text{M} \acute{e} \text{eI} \} \hat{E} \hat{a} \alpha \text{+} (1 \text{--} \text{..} \text{E} \text{T}^{\text{M}} \text{c} \text{f} \text{--} \int \hat{\wedge} \text{--} \text{U} \text{E} \hat{E}$   
 $\Pi \text{U} \text{J} \text{T}^{\text{M}} \text{0} 8 = \text{M} \hat{a} \acute{e} \} \acute{e} \} \text{b} \hat{a} \text{..} \hat{a} \hat{a} \text{.} = \Delta$
32.  $\hat{t} \check{G} = \text{U} \hat{a} \alpha \text{T} 8 \} \acute{A} \acute{e} \partial \text{S} \hat{E} \textcircled{\text{R}} \text{--} \text{d}' (\} \hat{z} \hat{a} \hat{z} \text{--} \textcircled{\text{R}} \Pi (\textcircled{\text{R}} \text{E} \} \text{--} \hat{E} \hat{a} \text{t} 5 \text{--} \text{3/4} \int \hat{\wedge} \hat{E} \text{--} \text{U} \hat{z} \Delta$   
 $8 \} \acute{A} \acute{e} \partial \text{S} \hat{E} \text{E} \text{T}^{\text{M}} \text{d}' (\} \hat{z} \text{0} \text{M} \Sigma 8 \cdot \text{--} \cdot \text{U} \text{, --} \hat{z} \int \hat{\wedge} \Delta \} \acute{A} 3 \acute{e} \hat{t} \Delta \text{c} \text{--} \Sigma \text{T}^{\text{M}} \text{M} \acute{e} \text{T} 30 \text{T}^{\text{M}} \text{E} \text{T}^{\text{M}}$   
 $\Pi 8 \text{UM} = \text{,} [\text{S}^{\text{T}^{\text{M}}} \text{U} \hat{t} \text{T}^{\text{M}} \hat{h} 3 \text{O} \text{I} \text{K} \text{--} \text{x} \hat{t} 1 \text{--} \Omega \text{--} \text{0} \text{T}^{\text{M}} 5 \{ \text{M} \Sigma 8 \cdot \text{--} \cdot \text{P} \text{--} \hat{z} \int 1 \text{T}^{\text{M}}$
33.  $\} 8 \text{--} \neg, \Pi \hat{a} \check{Y} \hat{u}^a \} 3 \check{T} \text{I} \Pi \Sigma \text{T}^{\text{M}} \text{M} \acute{e} \Pi \hat{h} 3 \text{T}^{\text{M}} \acute{e}, \hat{t} \text{S} \int \text{0} \text{M} \text{E} \text{U} \{ \text{U} \text{F} = \acute{e} \hat{a} \acute{e} \text{--} \acute{e} \text{P} \text{S} \text{H} \text{T}^{\text{M}} \Pi \hat{z} \Delta$
34.  $\Pi \hat{h} 3 = = \text{K} \hat{u}$
35.  $\Pi \hat{h} 3 \Pi \ddagger \text{H} \text{--} \hat{t} \check{G} = \int \hat{a} \text{E}$
36.  $\textcircled{\text{R}} \hat{z} \text{S} \hat{A} \hat{t}$
37.  $\Pi \text{K} \text{I} \hat{a} \text{I} \{ * = \acute{e} \text{c} \text{U}$
38.  $\Pi \text{K} \text{I} \text{z} \text{--} \acute{e} 1 \text{U}$
39.  $\text{a} \hat{u} \text{J} > \{ \cdot \text{--} \text{T}^{\text{M}} \Sigma 8 \cdot \text{--} \text{T}^{\text{M}} \text{E} 1 \text{U}$
40.  $\Pi \{ \} \Pi \text{D} \varphi \text{+} = \text{H} \hat{u} \text{--} = \hat{E} \hat{E} \hat{a} \hat{a} 3 3 \text{0} \hat{a} \div \text{S} \hat{A} \text{--} 3 \text{xL} \hat{a} \int \text{T}^{\text{M}}, \Pi \text{S} \text{--} \hat{\wedge} \hat{z} ; = \text{--} \Pi \Delta$
41.  $\text{e} \hat{t} 8 \text{--} \acute{x} \bullet \acute{e}, \hat{t} \check{G} \Pi \text{T}^{\text{M}} \}$
42.  $\text{e} \hat{t} : \text{--} \acute{x} \bullet \acute{e}, \hat{t} \check{G} \hat{a} \text{I} \text{x}$
43.  $\text{d}' (\} \hat{z} \Omega = \hat{E} \hat{a} \text{I} \text{x}) < 8 \text{H} \check{g} \text{3} \hat{T} \Omega = \hat{E} 8 \text{T} \hat{z} \hat{a} \text{i} \text{t} \text{T}^{\text{M}} \hat{M}$
- $5 \times \text{--} \acute{e} \text{3/4} \text{N} \text{0} \hat{z} \} \hat{A} 5 \sqrt{\cdot} \text{H} \Pi \hat{z} \cdot \text{c} \text{f} \text{--} \cdot \text{..} \text{E} \text{T}^{\text{M}} \cdot \hat{A} \text{T}^{\text{M}}, \Pi \text{I} = \text{xM} = \text{U} (8 \hat{t} \hat{z}^\circ \text{--} 1 (- \hat{z}$   
 $\int \hat{\wedge} \Delta$
- $\text{3/4}^a = \Pi \Sigma \text{T}^{\text{M}} \text{M} \acute{e} \text{--}, \hat{t} \text{F} \Omega \diamond \Omega \} \text{--} \text{fi} \div \cdot \Omega \text{U} \text{H} \hat{E} \alpha \text{M} \Pi \{ \diamond \Delta \hat{z} \} \varphi \acute{e} \check{e} \text{T}^{\text{M}} \hat{A} 5 \text{P} \}$   
 $\hat{E} \acute{e} \text{--} 8 (\text{T}^{\text{M}} \Delta \text{c} \text{--} \Sigma \text{T}^{\text{M}} \text{M} \acute{e} \text{--} \acute{e}, \hat{t} \text{S} \Omega \hat{O} \text{--} \hat{E} \Omega \check{g} \acute{e} 8 \hat{z} \text{0} \text{,} \hat{t} \text{--} \} \acute{e} \text{,} : \text{T} \text{z} \} \int \Delta \int \text{T}^{\text{M}} \text{--} \bullet \text{--}$



# Manus

## TRYGG NETTHANDEL

48. •ã -é³Èª È (Ö° Πη3 Π auJ 5 S) {TM 34%} Π 3 +- φ ∫ TM, ΠΣ. = Ö } ‡· β ẽ M'K  
-éM° · §{J Δ

} Ω=Ê ‡· •é 8 ¾ -é Ωp- ∫ TM, Π8 Jû¿ 8 P+é¿ 1 ỹ œ> ∫ ^-Ω=∂€ TMã , ‡ Ğ ∫ TM, Π  
Π fl Q¿ ÷· ∫ã Πη3 Ω 8 TâJδ 3³È -éH-} Πg: √..€ TM œ∫ - Δ

49. Ω=ã Π e† 8 -æ•é , ‡ ĞPεI %o ∫ã Πη3 Π §Ë∂ Ω=Èxû5 â..â â - TM3) TM ∫ã Πη3  
Ω 8 T ∫ TM âJδ -é Ωp() 1} - ¿ TM Ω=∂ ∫ TM ΠgE 9 •è= @¿¿ {TM â ÷ Ω=Δ

50. •è= Π Σ TM Mé È-••M-d'-y È, - ^ §Ë #} ¿ 3 §Í=Δ

∫ è= Èâ α+( ^ UF=éâ é TM-ÈΩ %o< = 5 §â é TM} 8 M I Èâ , ¾ ∫ TM-• §Mε ) È3 %  
8 %Ω \* Uâ 3ã=¿ TM Sâ φã √MU=, ỹ - 3 ĞÈ √..€ TM œ∫ - ∫ ^ Δ